T101—-—0031

TR 1 — 7 —8
HAIRBER AU s
R RAE W AR

ot B FR 3E B Rk M R

[E R m SR 2 95D 1
SF 6 £ 4 H 9 H

[ B 7 A )
re I )1 | [ E F55 T f
(LT AN

BALSZIE LT FRROEHICONT, FHBIREHERE BRI LS S 3E L

T Rz mE L E7,

728, FEEDORE RN H D & =1L, Y L TCEORBOEEf LT, =
DOEROBHZZ T T-ANOERE L TI4H (kA ZETe, ) LINIZ, E@EICELY,

A RO ZENTEET,

BRI D FICAT 2RBE, FHIC LV EEW7Z LI,
B, BHZRD D56 OEEOEMNEMOCFRE FIZOWTOREEEIT TR

DL TT,

1. ¥%4 R 5 50T ) 1 ] F A A o 5 H 2

2. JEITHIM Sf 54 4H 1H~%Sf 64 3H31H
3. TTHREFHH SFf 64 3 H27H

4. FEEM RFRDE Y

5. »=fH T370—0841

ﬁl%ﬁ%mﬁﬁﬁ%m 6 - 4 1

] 52 3 A P SRt 5 R ) vy | 0 55 P

ATk TR FHRsT

6. Fhix%D

&4t T370—-0841
ﬁl%ﬁ%mﬁﬁﬁ%m 6 - 4 1

] - AZ 844 BA B 5 i =y i iRl [ELE SR on B R PR AR
TELO0O27—-345—6000 (%) W#H3 02



GIERQ)
HOHA OB ORE OE A

SEH54 0 R 5 IR E]E L A R S Bl 56 85

HrE 7R E
HEBREE
b > N4 N4 7oy A
% #& H H Al A FATAEE | LIRS | AR
GREA WA | GrEs s | Gees s | GEES /5
(E1) (E1) (E1)
FhEre ) OFF | SR & B
s 16. 045 720. 0] 16. 050 ,720. 045 4.0 &, 5.0
il AT R
HATEH 4.0 f./7 5.081 4.0 8.7 5.0 4.0 4%/ 5. 04
=
it
A % FREEEL | 14,048 20,04 14. 048 20. 04 20. 045 /30 043 A /50 0.4
H oL
VIZ ) e A 5 ]
= =7 SEXHE 7.5 x10.050 7.5 xL10. 059 10. 08112 55
2]
=\ /ﬁﬂi
il AIEETH | 2.8 85 4.0/ 2.8 5./ 4.0/ 2.8 5/ 4. 0.4
=204 HH 2 ey N B
i %@%ﬁbﬁ BIHIFRELBE S | 4.8 A 6.0 4.8 A 6.0 4.8 /. 6.0
2]
==
HGkE 23k /rf7 fg%@ 4.0 R/ 5.0 4.0 5,7 5.05] 6.9 &5 7.5
i)
ik B D ZEAM R O G | 24. 045,730, 045 24. 045 30 045 24. 045 730 04 5/50. 044
SEE R DO/NEE (FE2) T8 100 s 774,100 & 778100 A S100 A
BT X AU 045 0, 0, —
S ST EREE 1 K 2808 045 05 0.5 — M
F D ( ) = = 0.5 — M
715 775 715 —
YN ST (Y O
NS MR ) /1004 /1004 /1004 /100

THORERIE, IS A2 WFETL AL TRRL TN D,
2. FEERONGHET, N ALETUELAL, B E LTS,




